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They did not say it; only regarding eating - ;7958 1713 KoK 19K IRD

Overview

The view of n"7 (according to X759 727 "W~ 1°27) is that when the 770 writes that
there is 72°¥n by a aw,” that is only if he ate the wnp. Our Mo qualifies this
statement.

- HYNT 991 12 PIYTNY WIPNT INIY N3N ON PN KINT RPYTINY ND9IN 09T XN
This, which 1°27 mentioned 7992, it is not precise, for the same rule applies if

there was oil of @77 and he kindled a lamp with this oil, that he is also ¥ -
- 3990 )19 OMN 1Y Y9NY

For he destroyed it from the world (just as by 79°x).

n1voIN asks:
= 41PN7N3 PYIIN INNN 19 ON IR ON)

And if you will says; if so (that there is 77°v only if it was 22177 11 anIX 79°), why
is there 779°y» by the new D°%pw?

N150IN answers:
- 67959N 1199 N BYIPYN 9N NINIY SMNPYN 1139 YPUY S9N ) BNNT UMY Y

And one can say; that there too (in that Xn»12) the 72°v» is in a case where he
used the o7pw to weigh against them other weights, so he derived benefit from

the 2°%pw themselves and that is considered like eating -
$ARNIN POIWND RIN NON ND)

And when R75 72 said, 777°9K 1°1¥% X9X 171K R, he only intended to exclude spending
the 0"pw, however any other type of direct benefit from the 2°%pw is considered 77°vn.

Summary

! This nooin should precede the previous 23 7"7 'on.

2 See 10,7 X1, where the 770 writes, 131 7 WTPn 23awa AROM HYn Hyan o wol.

3 See ‘Thinking it over’.

4 The Xn>12 on the 'R 7Y reads, 2P NV AR TV IR PRA ' ,0°P°NY2 990 7RI PR o°vin (however we are 07,
whether it is 2" or *"'7); all agree that 1°n7m2 75 (see 7207 w19 R # 376). Seemingly the only use for 2°7pw is
to spend them (in a purchase or 1W1Tp, etc.), this is not a "12°3 Hw 7x17 (like 79°3X or burning oil) why is there 7%°vn?!
5 He needed to weigh an item on a balance scale and he used the 2°9pw (whose weight is known) to determine the
weight of the item.

¢ We do not require a 71773 5w 1817 (like 72°3X or 1177 NPY77), but rather any X317 derived directly from wpi (such as
using w7p as a weight) is prohibited.

7 When spending or exchanging (money of) wpi1, you are not deriving a benefit directly from the wp7, rather the
wIpn is merely a means, to attain the desired result.
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There is 712°v7 (not only by *2°2 5w X177, but) in any situation where one derives 1837
from wipn directly (such as using it as a weight) as opposed to merely spending
7P, where there is no 72°vn.

Thinking it over
Will there be 77°yn if someone destroys wipn (like burning oil of w1pn),® but does

not derive any benefit from it at all?’

8 See footnote # 3.
% See nwn nbm.
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